Summer Assignment

Honors Geometry

This assignment will help vou prepare for Honors Geometry by reviewing
concepts you learned in Honors Algebrali.



Infiniie Algebra 1

Multi-Step Inequalities

Selve each inequality and graph ifs solution.
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Absolute Value Tnequalities

Solve each mequality and graph its selution.
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Algebra | Maine
Writing Equations of Parallel and Perpendicular Lines
@ 2011 Kuta Soltwave LLC. All rights reserved, )
Write the slope-intercept form of the equation of the line described.
1y through: (2, 2), parallel to y=x +4 2y through: {4, 3), parallel to x =0
3) through: (2, —4), parallel to y=3x+ 4 , 2
) through: (2, ~4), | ye= s 4) throughs (2, -1), parallel to =~ _x +3

1 6) through: (4, -1}, perp. to v=x+12
5) ﬂnough:(l,ASL perp.tOsz-gx-kZ ) gh: J perp. f03

@ 2011 Kuts Software LLC. Alh rights reserved. Made with [nlinite Algebra 1.
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5 8) through: {3, 4}, perp. o y=-2x—4
7y through: (=5, 5}, perp. to y:g_x:——f-.l ) through: (3, 4), perp. to \

Write the standard form of the eguation of the line described.

9) through: (4, 4), parallel to y=—6x + 5 10y through: (=5, 5}, parallel to ¥ =—3x + 3

1 1) through: {3, —2 o p=5x+4 2
) through: (3, ~2), perp. to y =5 12) through: (3, 1), perp. to y:~§x+4

Write the standard form of the equation of cach line.

13) y=3x+1 9
) y=3 14y y== x+3

@ 2011 Kuta Software LLC. All rights reserved. Made with Infinite Algebra 1.



15} slope=1, y-mtercept =0 . . .
t6) Slope =— y-intercept = 4
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17) y;i:—g(ﬁfs) 18) yf4:g(x+5)

Write the slepe-intercept form of the equation of each line.

]l =2Ux-2
19) y—~1=2(x-2) 20)y+3=é‘(?€+2)

© 201t Kuia Software LLC. All rights reserved, Made with Inlinite Algebra 1. -3-



Iy x+3y=1
=3x-3y=-15

13) ~3x4+3y=4
-x+y=3

15) 6x+6y=-6
Sx+ y=-=13

17y —3x—4y=2
3x+3y=-3

19) —-5x-8y=17
2x=Ty=-17

12) =3x—8y=20
~S5x+ y=18

14) 3%+ 3y =3
x4 y=13

16) 2x+y=20
6x—5y=12

18) —2x+6y=6
—Tx+8y=-~3

20) ~2x—y=-9
Sx—2y=18
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23) —14==20y - 7x
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20) 3x-2y=2
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22) 2x+8y=6

*SX — 20_)! = --15

24) 3+2x—y=0

=3-Ty=10x



Algebra | Mrs. Grieser Mame

Solve Quadratics Using the Quadratic Formula Date Block
© 2014 Kuta Software LLC, All rights rescrved.
1) State the formula for the Quadratic Formula: 23 State the formula for the discriminant, and

describe how to interpret it.

Use the discriminant to determine the number of real solutions to each equation.

3) 2%*=2k—-3=0 4y ptr6p+9=0

5) ~6b* + 10b— 15 =8 &) 6nt+2n—10=-2

Solve each equation with the guadratic formula,

T n*—dn—5=0 8) 4r' +d4r-120=0
9) —3x*-3x+6=0 10) 2x* —8x+8=0
11) 6/ ~91=5 12) 22 +2x+7=2
13) 202 —12v =29 =3 14) ~2n? ~20=-8

15) 50 =3n-24=0 16) 8b* +6h—~1=0
17) 1imt—6m+7=—4 18) 5v* +4v—-3=3

© 2014 Kuta Seftware LLC. All rights reserved, Made with Infinize Algebra L.



Kuia Software - Infinite Algebra 2 MName

Adding, Subtracting, Multiplying Radicals Date__ Period_____
Simplify.

1) ~54/3 - 33 2) 248 — /8

3) ~46 - 6 4y ~3+5 + 25

5) —3+27 = 3827 3327 6) ~3~/12 + 343 +3+/20

21) V150210 — 4+/6) 22) (=7 + /3x)(4 + \/3x)

23) (V24 = 5724 — 5) 24y (2 + /5 X2 + /5k)

25) (V3 + V5203 - 54/5x) 26) (7+6)(1 +e6)



